JKK{FE

EA EAER 773U-

d—2 v\ 1 LgiE5H]

F| ev Jorv |3 e ] s

D IRIE X ATEFRT 1-22-1

: 20044128

1218

D1

HE 3 =N AR S - ad -
: 4,300M,H

T RED25AS

t . 25 FEMOHRMG &
1208

1 20,000H,H

: BRESEHERRNO2,-H5
BREGRER]

FH

2K@am 25 43.70m

0% #:82,500~95,100m
@HHAX S} L8161

=
1 ]

Mt
B

m -6-

ML

/
g

-

BA

Ja—
1 vk

v FY

HE

438 | 438

Hﬁl& C_ N P=br

* fna=— “
: — ‘

KREYATVHVET  BBY1TUHBVET

2DK@om 54 50.01n

0% #:95,900~109,200M
@HHAX S} : L8162

5 D
%B |
#6.3 X
7]
4o
A=
£y
i
e G el
— 1= FyF
#5.6& |

NBETHLEDTIEP.426-427 DESAENEE TRV, R0 B By IS DL TIEP.1 24132 TR SV, 293

g TH=m [ A58 0] Rt 102
s Ta=m [RIEAE]] Fie5119

sREH [EEDE] Rits175

0\5’@&\15\ QS .
/> '%’(‘1“ /?fQ/ N?";n\\
) /%\\/\y ) RN
N\ LEARSA %}J‘Z T
o e (PO T

© HIFIE— @@E

C
=
%= R
i A

0
25 a @ SONP
S B

O
) :
BLR =
| mREs ) —
iK//“’J_b A D P -
‘{®j _%@*\'U‘ﬂ—- \\@/j
L LEYINNE B —
e minnd, | | 15595
SETHR — a R Al IREZEAHRO R

T
=M 225 iR
o bl i

Kam  FE 46.69m

0% #%:103,300
®HHAX S} : L8161

2

/ 4
B
>~

M\f [j =

Sy FvF
*”i—)% #94.3%

S

S

20Kem %5 5277m

0%  #®:113,300-114,400M
SHIAX Sy L8162

W
.

#g‘_‘;ﬁ B

| BN BN SRR

I3 285 5



I 28 55

2DKm 5B 53.00m

Ox #:114,300™
QHLAX S : L8162

; It

- #E

£ = wrE

|

i I

s S
i % H ‘ﬁéD
? Bk |bE

- [®) #HA

sl => 4] kug

_ = )
3DK 2P 25 62.17n

0% #:129,400-130,000M
SHIAXSY: L8163

if 17—
B
H#E M o
#5.48 ;
= ﬂgf #0548
A=
£ b
e Nar] 725%
HE PN VN
P
O wxx)/ |
e |
g4=2 e
| | XvFr
wrE
M
MBEUBRILTHHVET,

3DK@1m 28 59.66n

O% #:109,800~129,200H
SHHAX S 18163

| — i —

¥

-
gz |5/FP| weem
w558 [A]

[F

fu

Pl 2N B4

BA EA

]

"

¥
(3=

0

|\
= H54=27 D

FyFr
#95.98

KRBT TEBVET

294 ABEIHELEOTIP.426-427 DEAERE R T, FBEHOEREEC OV TIEP.1 213 TR L,



